Special Right Triangles
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You try:
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You try.  Find the value of x on this Isosceles Right Triangle.
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You try:
Find the value of y on this Right Isosceles Triangle
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You try:
Find the value of the diagonal of the square below.
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You try:  Find the value of x.
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You try:  
Find the height of the equilateral triangle.
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You try:
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You try:  Find the values of x, y, and z.[image: ]
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Find the values of x and y. Write your
answer in simplest radical form.
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Logo The logo on arecycling bin resembles an
equilateral triangle with side lengths of 6 centimeters.
Whatis the approximate height of the logo?
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The length of a hypotenuse of a 30° - 60° — 90° right
triangle is 17 yards. Find the other two lengths.
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Aright triangle has a leg with a length of 34 and a
hypotenuse with a length of 68. A student notices that the
hypotenuse is twice the length of the given leg and says
that this means it is a 30° - 60° - 90° triangle. If the student is
correct, what should the length of the remaining leg be?
Explain your answer. Confirm your answer using the
Pythagorean Theorem.
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BEAT THE TEST!

The base of the engineering building at Lenovo Tech
Industries is approximately a 30° — 60° — 90° triangle with a
hypotenuse of about 294 feet. The base of the
engineering building at Asus Tech Industries is
approximately an isosceles right triangle with a side about
144572 feet.

What is the difference between the perimeters of the two
buildings2 Round your answer to the nearest hundredth.
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Dump Truck The body ofa
dump truck is raised to empty
a load of sand. How high is
the 14 foot body from the
frame when it is tipped
upward at the given angle?

a. 45° angle b. 60° angle
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Find the length of the hypotenuse.
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Find the lengths of the legs in the triangle.
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The Tilley household wants to build a patio deck in the
shape of a 45° — 45° — 90° triangle in a nice corner section
of their backyard. They have enough room for a friangular

deck with a leg measuring 36 feet. What will the length of
the longest side be?2
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BEAT THE TEST!

1. Consider the drawing below.

i

Part A: What is the perimeter of the figure2

Part B: Write a 3 - sentence long short story about the
drawing and the calculations made in Part A.




